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Question 1

Question Type: MultipleChoice

Based on the specification,
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What is an example of a negative test case?

Options:

A- Option A
PowerUnit | Body Style

Hybrid sSuv

B- Option B



PowerUnit | Body Style

Hybrid SUV

C- Option C
PowerUnit | Body Style

Hybrid SUV

D- Option D
PowerUnit | Body Style

Hybrid SUV

Answer:

D

Question 2

Question Type: MultipleChoice




How many cases are required to test this specification using a decision table which is not collapsed?
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Options:

A-2
B-4
C-6
D-8

Answer:

Question 3




Question Type: MultipleChoice

Which of the following is an example of testing as part of the requirements specification phase?

Options:

A- A requirements review meeting
B- A business analyst eliciting requirements
C- Performing acceptance tests against requirement

D- A test report showing requirements coverage

Answer:

A

Question 4

Question Type: MultipleChoice

What is a good review meeting practice?



Options:

A- Discuss anybody else's defects reports
B- Justify or explain your defects
C- Do not discuss critical issues during the meeting

D- Be supportive and encouraging, especially to the author

Answer:

D

Question 5

Question Type: MultipleChoice

As part of the new strategy a user interface specification has been created to help development to gain familiarity with the requirements.
What kind of review would be most helpful in this situation?

Options:

A- A walkthrough, because it would help them understand the interface better



B- An inspection, because it would result in a signed off user interface specification to work from
C- A technical review, because it will identify all the problems with the user interface specification

D- A management review, because it sets management criteria for the development

Answer:

A

Question 6

Question Type: MultipleChoice

The development manager has reviewed the initial inspection results in the company and has discovered that your inspection logging
rate is 2 issues per minute and the average checking rate is 5 pages per hour. Around 10 major defects are found per page. The
manager is willing to invest more money in your inspection programme. What should he/she do?

Options:

A- Ask checkers to try a checking rate of 6 pages per hour

B- Make sure the scribe logs issues at a rate of 1 issue per minute



C- Ask moderators to cut back on discussion in the logging meeting

D- Ask checkers to try a checking rate of 4 pages per hour

Answer:

D
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